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(A) SLR 

() RBI-l ugulu la RHURUCHS HIA-i g�u. 

(C) Margin 

(A) 29 
(C) ai 

(2) 2lMil s/ RBI UAus4 llai qelctS 

(A) 1935 
(3) RB1Hl uL 

(C) 1969 

1 

Seat No. 

(B) 4H 

(B) CRR 

[ Total Marks : 70 

(D) G42 qtu 

R eS sil? 
(D) G42l aUg 

(B) 1949 
(D) 1928 

14 

14 

4 
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(4) UBul4 A 

(C) 2igul 

() qalglal aà a2l. 

() qail is4à tsid 22l. 

(A) ube 
(C) iIÈL 
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(A) 21 

(C) 21 

(2) s46L 4g4 URAH0 Dy34ll atril q4 

9. 

(A) 1947 
(C) 1921 

18 

(3) HerHi s q 
21 

(B) us AsR 

(D) G42l o4L 

2 

(B) 2l 

(D) R 

(B) 18 i 21 

(D) 21 i 25 
qerlu Reugs q d3 

(B) 1925 

(D) 2011 

14 

14 

() RHi làa MlE-Q2ug qqe 4ls q2l. 14 

3 

14 
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(A) AL à 
(B) Ge) à 

(D) (u2UMil s4g l 

(A) sISsils [oRgù-l qei quRiAL 
(B) RuS R qel qu 

(C) 
(D) (4Rl GiIY 

laLS EAUl qai q4LQL 

(B) 
(C) us lH) HHIq 

(A) Gi 

4 gl Hul&- ua 

(D) G4R GUY 

(C) RaR 

3 

(B) l 
(D) 424 

14 

4 
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(1) SEZ 2e ai? 

(B) AN Sàsai-ls 
(C) Au As 

(2) SEZ(a3) > 

(A) ylsg 
(C) AA (D) G4R GL 

(3) 2Hiel s6 tzdal jul ? 
(A) ONGC 
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(C) GAIL 

ENGLISH VERSION 

(B) 

(a) Explain the functions of Reserve Bank of India. 14 

OR 

(a) State the quantitative instruments of monetary 
policy of RBI. 

(B) CIL 

(b) Choose the appropriate option and give the 
answer of following questions 

(A) Short 
(C) Long 

u 

(1) Repo rate is the rate at which the Reserve 
Bank lends to commercial banks for a 

period. 

4 

(B) Medium 

(D) 

3 

All of the abOve 

4 
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(2) Which of the following is a qualitative 

instrument of RBI's monetary policy? 

(A) SLR 
(C) Margin 
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(A) 1935 
(3) When was RBI established? 

(C) 1969 

(C) Employment 

(4) Monetary policy influences the 

(A) Credit creation 

(B) CRR 

(B) Economic development 

(D) All of the above 

OR 

(D) All of the above 

(a) Discuss the effects of population growth. 

(B) 1949 
(D) 1928 

(a) Discuss the Theory of Demographic Transition. 

(A) Brazil 

(b) Choose the appropriate option and give the 

answer of following questions: 

(1) Which country was the first in the world to 

adopt a state-driven population control 

program? 
(B) China 

(C) Bangladesh (D) India 

(A) 21 and 18 

(C) 21 and 21 

(2) According to the law. the marriageable age 

5 

of women and men in India is 

(B) 18 and 21 

(D) 21 and 25 

14 

14 

3 
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(3) Which year is known as the dividing year 
of population in India? 
(A) 1947 
(C) 1921 
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(a) Discuss the limitations of the agricultural 
marketing system in India. 

OR 

(a) Explain the role of agriculture in the economy 
of India. 

(b) Choose the appropriate option and give the 
answer of following questions : 

(B) 1925 
(D) 2011 

(1) Which sector of India cconomy provides 
more employment compared to other 
sectors? 

(A) Service sector 
(B) Industrial sector 
(C) Agricultural sector 
(D) None of the above 

(2) What are the characterisics of technological 
changes in agriculture? 
(A) Increased use of hybrid seeds 
(B) Increased use of chemical fertilizers 
(C) Increased use of pesticides 
(D) All of the above 

(3) What are the causes of low agricultural 
productivity in India? 
(A) Increasing pressure of population on 

land 

(D) 

(B) Improper land ownership system (C) Lack of scientific approach 
AIl of the above 

6 
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(4) What is the capital-land ratio in agriculture 
sector of India? 

(A) High 
(C) Stable 

(a) Discuss the importance of public sector in 
industrialization of India. 
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(a) Discuss the importance and problems of small 
scale industries in India. 

(b) Choose the appropriate option and give the 
answer of following questions : 
(1) What is SEZ? 

OR 

(B) Low 
(D) Medium 

(A) Special Economic Zone 
(B) Special Electronic Zone 
(C) Special Export Zone 

(D) Special Import Zone 
(2) SEZs have a huge potential of 

(A) Investment (B) Employment 
(C) Exports (D) All of the above 

(3) Which of the following is a public sector 
company? 
(A) ONGC 

(C) GAIL 

7 

(B) CIL 
(D) All of the above 

14 

14 
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